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x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”7138|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 2 ”strong=”3117|����� x-morph=”OSHM:HNcmsc”
”strong=”2822|�������� x-morph=”OSHM:HNcmsa” ”strong=”c/653|��������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1.1” ”strong=”3117|�����
x-morph=”OSHM:HNcmsc” ”strong=”6051|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”c/6205|��������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”k/7837|�������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”6566|�������� x-morph=”OSHM:HVqsmsa”
strong=”5921|��� a” x-morph=”OSHM:HR”�������/����|strong=”d/2022”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” strong=”5971|����
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.3.0” strong=”7227|����
a” x-morph=”OSHM:HAamsa” ”strong=”c/6099|�������/�� x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”0.3” ”strong=”3644|���/������ x-morph=”OSHM:HR/Sp3ms”
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x-cantillationLevel=”0.2.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1961|���������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.2.0” strong=”4480|���
a” x-morph=”OSHM:HR”�������/����|strong=”d/5769” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.2” strong=”c/310|��/��������/�� a” x-morph=”OSHM:HC/R/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3254|�������
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0.1” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”8141” x-morph=”OSHM:HAcmdc”
x-cantillationLevel=”0.0” ”strong=”1755|������ x-morph=”OSHM:HNcmsa”
”strong=”c/1755|�����/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”�
3 ”strong=”l/6440|��/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-
cantillationLevel=”1.1.0” ”strong=”398|�������� x-morph=”OSHM:HVqp3fs”
”strong=”784|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1”
strong=”c/310|�/��������/�� a” x-morph=”OSHM:HC/R/Sp3ms” x-cantillationLevel=”1.0”
”strong=”3857|��������� x-morph=”OSHM:HVpi3fs” ”strong=”3852|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”k/1588|���/���
x-morph=”OSHM:HR/Ncbsc”�������|strong=”5731 b” x-morph=”OSHM:HNp”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.1.0”
”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0.1.1”
strong=”c/310|��/��������/�� a” x-morph=”OSHM:HC/R/Sp3ms” x-cantillationLevel=”0.1.0”
strong=”4057|��������� b” x-morph=”OSHM:HNcmsc” strong=”8077|���������
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”�����������|strong=”6413” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”1961”
x-morph=”OSHM:HVqp3fs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 4 ”strong=”k/4758|��������/��� x-morph=”OSHM:HR/Ncmsc”
strong=”5483|�������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
”strong=”4758|���/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
strong=”c/k/6571|����������/��/�� a” x-morph=”OSHM:HC/R/Ncmpa”
x-cantillationLevel=”0.0” strong=”3651|����� c” x-morph=”OSHM:HTm”
”strong=”7323|�/��������� x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”0”�
5 strong=”k/6963|�����/��� a” x-morph=”OSHM:HR/Ncmsc” ”strong=”4818|������������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2.1” strong=”5921|��� a”
x-morph=”OSHM:HR”���������|strong=”7218 a” x-morph=”OSHM:HNcmpc”
”strong=”d/2022|�������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0”
”strong=”7540|�/����������� x-morph=”OSHM:HVpi3mp/Sn” x-cantillationLevel=”1.2”
strong=”k/6963|�����/��� a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.1.0”
”strong=”3851|������ x-morph=”OSHM:HNcmsc” ”strong=”784|�����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1” ”strong=”398|��������
x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.0” ”strong=”7179|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”k/5971|����/���
a” x-morph=”OSHM:HR/Ncmsa” ”strong=”6099|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1” strong=”6186|�������� a” x-morph=”OSHM:HVqsmsc”
x-cantillationLevel=”0.0” ”strong=”4421|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 6 ”strong=”m/6440|�/�������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”1.0” strong=”2342|��������� a” x-morph=”OSHM:HVqi3mp”
strong=”5971|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
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”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”6440”
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0” ”strong=”6908|���������
x-morph=”OSHM:HVpp3cp” ”strong=”6289|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 7 ”strong=”k/1368|�����������/��� x-morph=”OSHM:HR/Aampa”
”strong=”7323|�/�������� x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”1.1”
”strong=”k/376|���������/��� x-morph=”OSHM:HR/Ncmpc” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”5927|��������
x-morph=”OSHM:HVqi3mp” ”strong=”2346|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”b/1870|��/�������/��� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”3212|�/��������� x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”5670|�/����������� x-morph=”OSHM:HVpi3mp/Sn” x-cantillationLevel=”0.0”
”strong=”734|�/���������� x-morph=”OSHM:HNcbpc/Sp3mp” x-cantillationLevel=”0”�
8 ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa” ”strong=”251|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”1766|�/���������� x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”1.1” ”strong=”1397|������� x-morph=”OSHM:HNcmsa”
”strong=”b/4546|��/���������/��� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”3212|�/��������� x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”1” ”strong=”c/1157|������/�� x-morph=”OSHM:HC/R”
”strong=”d/7973|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
”strong=”5307|��������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1214|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0”� 9 strong=”b/5892|�����/���
b” x-morph=”OSHM:HRd/Ncfsa” ”strong=”8264|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.1.1” ”strong=”b/2346|�������/���� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.1.0” ”strong=”7323|�/�������� x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”1.1” strong=”b/1004|���������/��� b” x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”5927|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1” ”strong=”1157|������� x-morph=”OSHM:HR” ”strong=”d/2474|�����������/��
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.0.0” ”strong=”935|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.0” ”strong=”k/1590|��������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 10 ”strong=”l/6440|��/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”7264|��������
x-morph=”OSHM:HVqp3fs” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”7493|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”8064|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”8121|�������� x-morph=”OSHM:HNcbsa”
”strong=”c/3394|��������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”6937|�������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1”
”strong=”c/3556|����������/�� x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0.0”
”strong=”622|�������� x-morph=”OSHM:HVqp3cp” ”strong=”5051|�/�������
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0”� 11 ”strong=”c/3068|������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.2.1” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” strong=”6963|���/���� a” x-morph=”OSHM:HNcmsc/Sp3ms”
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x-cantillationLevel=”1.2.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”2426|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”7227|���� a” x-
morph=”OSHM:HAamsa” ”strong=”3966|������ x-morph=”OSHM:HD” x-
cantillationLevel=”1.1.0” ”strong=”4264|���/������� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”6099|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” strong=”6213|�������
a” x-morph=”OSHM:HVqrmsc” ”strong=”1697|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”1419
a” x-morph=”OSHM:HAamsa” ”strong=”3117|���� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”c/3372|�������/��
x-morph=”OSHM:HC/VNrmsa” ”strong=”3966|������ x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” ”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti”
”strong=”3557|����/�������� x-morph=”OSHM:HVhi3ms/Sp3ms” x-cantillationLevel=”0”�
12 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”��������|strong=”6258”
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”5002|����� x-
morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”7725|������� x-morph=”OSHM:HVqv2mp”
”strong=”5704|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”����/�������|strong=”3824”
x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”1” ”strong=”c/b/6685|�����/��/��
x-morph=”OSHM:HC/R/Ncmsa” ”strong=”c/b/1065|������/��/�� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.0” 2 We agree with both BHS 1997 and BHQ on an un-
expected reading. ”strong=”c/b/4553|���������/��/�� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0”� 13 ”strong=”c/7167|��������/�� x-morph=”OSHM:HC/Vqv2mp”
”strong=”3824|����/������ x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”1.1.0”
”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”����/���������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.1” ”strong=”c/7725|��������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”2587” x-morph=”OSHM:HAamsa”
”strong=”c/7349|�������/�� x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”0.2.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.2”
”strong=”750|������� x-morph=”OSHM:HAamsc” ”strong=”639|����������
x-morph=”OSHM:HNcmda” x-cantillationLevel=”0.1.0” strong=”c/7227|���/��
a” x-morph=”OSHM:HC/Aamsc”�������|strong=”2617 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/5162|������/�� x-morph=”OSHM:HC/VNrmsa”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/7451
c” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”� 14 ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”3045|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.0” ”strong=”7725|�������� x-morph=”OSHM:HVqi3ms”
”strong=”c/5162|������/�� x-morph=”OSHM:HC/VNq3ms” x-cantillationLevel=”1”
”strong=”c/7604|����������/�� x-morph=”OSHM:HC/Vhq3ms” strong=”310|��/��������
2U
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a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.2.0” ”strong=”1293|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2” ”strong=”4503|��������
x-morph=”OSHM:HNcfsa” ”strong=”c/5262|�������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0”� � 15 ”strong=”8628|��������� x-morph=”OSHM:HVqv2mp”
”strong=”7782|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”b/6726|��������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”6942|��������� x-morph=”OSHM:HVpv2mp”������|strong=”6685”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”7121|��������
x-morph=”OSHM:HVqv2mp” ”strong=”6116|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 16 ”strong=”622|������� x-morph=”OSHM:HVqv2mp”�����|strong=”5971
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0.0” ”strong=”6942|����������
x-morph=”OSHM:HVpv2mp” ”strong=”6951|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” ”strong=”6908|�������� x-morph=”OSHM:HVqv2mp”
”strong=”2205|��������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1.2”
”strong=”622|�������� x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.1.0”
”strong=”5768|����������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
”strong=”c/3243|��������/�� x-morph=”OSHM:HC/Vqrmpc” x-cantillationLevel=”1.0”
strong=”7699|��������� a” x-morph=”OSHM:HNcmda” x-cantillationLevel=”1”
”strong=”3318|������ x-morph=”OSHM:HVqj3ms” ”strong=”2860|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” ”strong=”m/2315|��/������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/3618|�������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.0” ”strong=”m/2646|��/��������/��
x-morph=”OSHM:HR/Ncfsc/Sp3fs” x-cantillationLevel=”0”� 17 ”strong=”996|������
x-morph=”OSHM:HR” ”strong=”d/197|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” ”strong=”c/l/4196|�����������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”1058|��������� x-morph=”OSHM:HVqj3mp”
x-cantillationLevel=”1.1.0” ”strong=”d/3548|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”8334|����������� x-morph=”OSHM:HVprmpc”
x-cantillationLevel=”1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/559|���������/��� x-morph=”OSHM:HC/Vqi3mp”
x-cantillationLevel=”0.2.1.0” ”strong=”2347|�/������ x-morph=”OSHM:HVqv2ms/Sh”
”strong=”3068|������� x-morph=”OSHM:HNp” strong=”5921|��� a” x-
morph=”OSHM:HR”��/�������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.2.1” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”���������|strong=”5414”
x-morph=”OSHM:HVqj2ms” ”strong=”5159|���/�������� x-morph=”OSHM:HNcfsc/Sp2ms”
”strong=”l/2781|���������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.2.0”
”strong=”l/4910|������/�� x-morph=”OSHM:HR/Vqc”�/�����|strong=”b”
x-morph=”OSHM:HR/Sp3mp” strong=”1471|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.2” ”strong=”l/4100|����/��� x-morph=”OSHM:HR/Ti”
x-cantillationLevel=”0.1.0” ”strong=”559|��������� x-morph=”OSHM:HVqi3mp”
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x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”1.0” ”strong=”l/776|��/������/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
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b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.2.0” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”l/5971|��/�����/�� a” x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”1.1.2” ”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs”
”strong=”7971|�������� x-morph=”OSHM:HVqrmsa” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1715” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”c/d/8492|����������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
”strong=”c/d/3323|���������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/7646|������������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”1.0” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”5414”
x-morph=”OSHM:HVqi1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0” ”strong=”2781|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” strong=”b/1471|��������/���
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”� 20 ”strong=”c/853|���/���
x-morph=”OSHM:HC/To”����������/���|strong=”d/6830” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.2.1.0” ”strong=”7368|��������� x-morph=”OSHM:HVhi1cs”
strong=”m/5921|����/�����/�� a” x-morph=”OSHM:HR/R/Sp2mp” x-
cantillationLevel=”1.2.1” ”strong=”c/5080|��/�����������/�� x-morph=”OSHM:HC/Vhq1cs/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsa” ”strong=”6723|������� x-morph=”OSHM:HAafsa”
strong=”c/8077|���������/�� a” x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.2”
”strong=”854|��� x-morph=”OSHM:HR”�/��������|strong=”6440” x-
morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”1.1.1” ”strong=”413|���
x-morph=”OSHM:HR”�����/���|strong=”d/3220” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”d/6931|�����������/�� x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.1” ”strong=”c/5490|��/����/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����/���|strong=”d/3220”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/314|����������/�� x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1” ”strong=”c/5927|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”889|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.1”
”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vqi3fs” x-cantillationLevel=”0.1.0”
”strong=”6709|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1431|����������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.0” strong=”l/6213|��������/��
a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”� 21 ”strong=”408|���
x-morph=”OSHM:HTn”������������|strong=”3372” x-morph=”OSHM:HVqj2fs”
x-cantillationLevel=”1.0” ”strong=”127|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”1523|�������� x-morph=”OSHM:HVqv2fs”
”strong=”c/8055|���������/�� x-morph=”OSHM:HC/Vqv2fs” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”�����������|strong=”1431”
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x-morph=”OSHM:HVhp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 22 ”strong=”408|��� x-morph=”OSHM:HTn”������������|strong=”3372”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.1.0” ”strong=”929|����������
x-morph=”OSHM:HNcfpc” strong=”7704|������� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1876|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”4999|�������
x-morph=”OSHM:HNcfpc” strong=”4057|��������� b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”�����|strong=”6086”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” ”strong=”5375|�������
x-morph=”OSHM:HVqp3ms” ”strong=”6529|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”8384|��������� x-morph=”OSHM:HNcfsa”
”strong=”c/1612|������/�� x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.0”
”strong=”5414|�������� x-morph=”OSHM:HVqp3cp” ”strong=”2428|�/������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”� 23 strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc” ”strong=”6726|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”1523|�������� x-morph=”OSHM:HVqv2mp”
”strong=”c/8055|���������/�� x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.1.0”
”strong=”b/3068|������/��� x-morph=”OSHM:HR/Np” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”5414” x-morph=”OSHM:HVqp3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/4175”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”l/6666|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1” ”strong=”c/3381|��������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0.1” ”strong=”1653|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0.0” ”strong=”4175|������� x-morph=”OSHM:HNcmsa”
”strong=”c/4456|����������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
”strong=”b/7223|���������/��� x-morph=”OSHM:HRd/Aamsa” x-cantillationLevel=”0”�
24 ”strong=”c/4390|��������/�� x-morph=”OSHM:HC/Vqp3cp” ”strong=”d/1637|����������/��
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.0” strong=”1250|�����
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/7783|����������/��
x-morph=”OSHM:HC/Vhp3cp” ”strong=”d/3342|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”8492|���������� x-morph=”OSHM:HNcmsa”
”strong=”c/3323|��������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”�
25 strong=”c/7999|�������������/�� a” x-morph=”OSHM:HC/Vpq1cs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/8141”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.2” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.1.0” ”strong=”398|������
x-morph=”OSHM:HVqp3ms” ”strong=”d/697|���������/��� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”d/3218|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/d/2625|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
”strong=”c/d/1501|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1” ”strong=”2428|��/����� x-morph=”OSHM:HNcmsc/Sp1cs”
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x-cantillationLevel=”0.1.0” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7971|������������� x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”0.0”
”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0”�
26 ”strong=”c/398|�����������/�� x-morph=”OSHM:HC/Vqq2mp” ”strong=”398|�������
x-morph=”OSHM:HVqa” x-cantillationLevel=”1.2.0” ”strong=”c/7646|���������/��
x-morph=”OSHM:HC/Vqa” x-cantillationLevel=”1.2” strong=”c/1984|������������/��
b” x-morph=”OSHM:HC/Vpq2mp” x-cantillationLevel=”1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”������|strong=”8034” x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.1”
strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”6213
a” x-morph=”OSHM:HVqp3ms” strong=”5973|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”l/6381|���������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”����������|strong=”954”
x-morph=”OSHM:HVqi3mp” strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”l/5769|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 27 ”strong=”c/3045|����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”1.1.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”b/7130|������/�� x-morph=”OSHM:HR/Ncmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1” ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”1.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”1” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”����������|strong=”954” x-morph=”OSHM:HVqi3mp”
strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”l/5769|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
�3 3 KJV:Joel.2.28 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”

strong=”310|�������� a” x-morph=”OSHM:HR”�����|strong=”3651
c” x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1” ”strong=”8210|������������

x-morph=”OSHM:HVqi1cs” ”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”7307”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”���������|strong=”1320”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/5012|���������/��
x-morph=”OSHM:HC/VNq3cp” x-cantillationLevel=”1.0” strong=”1121|����/������
a” x-morph=”OSHM:HNcmpc/Sp2mp” ”strong=”c/1323|����/���������/��
x-morph=”OSHM:HC/Ncfpc/Sp2mp” x-cantillationLevel=”1” ”strong=”2205|����/�������
x-morph=”OSHM:HAampc/Sp2mp” x-cantillationLevel=”0.2.0” ”strong=”2472|���������
x-morph=”OSHM:HNcmpa” strong=”2492|�/���������� b” x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”0.2” ”strong=”970|����/���������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”2384|����������� x-morph=”OSHM:HNcmpa”
3+
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x-cantillationLevel=”0.0” ”strong=”7200|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0”� 2 4 KJV:Joel.2.29 ”strong=”c/1571|����/�� x-
morph=”OSHM:HC/Ta” strong=”5921|��� a” x-morph=”OSHM:HR”���������/����|strong=”d/5650”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”�����������/���|strong=”d/8198” x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1” ”strong=”b/3117|��������/��� x-morph=”OSHM:HRd/Ncmpa”
”strong=”d/1992|�������/�� x-morph=”OSHM:HTd/Pdxmp” x-cantillationLevel=”0.1”
”strong=”8210|������������ x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”7307” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 3 5 KJV:Joel.2.30 ”strong=”c/5414|����������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”1.1.0” ”strong=”4159|�����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1” ”strong=”b/8064|����������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”c/b/776|������/��/��
x-morph=”OSHM:HC/Rd/Ncbsa” x-cantillationLevel=”1” ”strong=”1818|�����
x-morph=”OSHM:HNcmsa” ”strong=”c/784|�����/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/8490|�����������/�� x-morph=”OSHM:HC/Ncfpc”
x-cantillationLevel=”0.0” ”strong=”6227|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 4 6 KJV:Joel.2.31 ”strong=”d/8121|����������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.0” ”strong=”2015|���������
x-morph=”OSHM:HVNi3ms” ”strong=”l/2822|��������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/d/3394|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”l/1818|����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”0.1.1” ”strong=”935|������ x-morph=”OSHM:HVqc”
x-cantillationLevel=”0.1.0” ”strong=”3117|����� x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0”
”strong=”c/d/3372|��������/��/�� x-morph=”OSHM:HC/Td/VNrmsa”
x-cantillationLevel=”0”� 5 7 KJV:Joel.2.32 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsa” strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”7121”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0.0” ”strong=”b/8034|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”4422|��������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.2.1.1” ”strong=”b/2022|���/��� x-morph=”OSHM:HR/Ncmsc”���������|strong=”6726”
x-morph=”OSHM:HNp” ”strong=”c/b/3389|������������/��/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”0.2.1.0” ”strong=”1961|���������� x-morph=”OSHM:HVqi3fs”
”strong=”6413|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.1”
strong=”k/834|�������/���� d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.2.0”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/b/8300|������������/���/��
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x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”7121|������ x-morph=”OSHM:HVqrmsa”
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”strong=”2009|������� x-morph=”OSHM:HTm” x-cantillationLevel=”1.0.0”
”strong=”b/3117|��������/��� x-morph=”OSHM:HRd/Ncmpa” ”strong=”d/1992|�������/��

x-morph=”OSHM:HTd/Pdxmp” x-cantillationLevel=”1.0” ”strong=”c/b/6256|����/��/��
x-morph=”OSHM:HC/Rd/Ncbsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7725|���� x-morph=”OSHM:HVqi1cs” x-wType=”x-ketiv” 9 ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”7622” x-morph=”OSHM:HNcfsc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/3389|������������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
2 10 KJV:Joel.3.2 ”strong=”c/6908|������������/�� x-morph=”OSHM:HC/Vpq1cs”
x-cantillationLevel=”1.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1471 a” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”c/3381|�/�������������/�� x-morph=”OSHM:HC/Vhp1cs/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”6010”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”3092|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/8199|���������������/��
x-morph=”OSHM:HC/VNp1cs” strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1.1.0” ”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.1.1” strong=”5921|��� a” x-morph=”OSHM:HR”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”c/5159|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp1cs” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6340|���������� x-morph=”OSHM:HVpp3cp” strong=”b/1471|��������/��
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�/��������|strong=”776” x-morph=”OSHM:HNcbsc/Sp1cs”
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x-cantillationLevel=”1” ”strong=”c/4261|��/����������/�� x-morph=”OSHM:HC/Ncmpc/Sp1cs”
x-cantillationLevel=”0.1.0” strong=”d/2896|��������/�� a” x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”0.1” ”strong=”935|��������� x-morph=”OSHM:HVhp2mp”
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x-cantillationLevel=”0”� 6 14 KJV:Joel.3.6 strong=”c/1121|������/�� a”
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”strong=”4376|����������� x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”1.0”
strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”d/3125|����������/��
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”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1471 a” x-morph=”OSHM:HNcmsa”
”strong=”7350|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3068|�������
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x-morph=”OSHM:HVhv2mp” x-cantillationLevel=”0.2.0” ”strong=”d/1368|������������/��
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x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”1” ”strong=”c/3068|������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”7931|�������
x-morph=”OSHM:HVqrmsa” ”strong=”b/6726|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”�
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